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Finclude <stdio. h>

int main() {
int n;
scanf ("%d”, &n) |
printf ("%d\n”, n) ;

return O;

}



scanf(“%d”, &n)
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finclude <stdio. h>
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int main() {

&

int n;
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scanf ("%d", &n) ;
printf ("%d\n", n) :

return 0;:
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tinclude <stdio.h>

int main() {
int n;
scanf ("%d”, &n) :
leMtI( %d\n"~,
return 0;

n) ;
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Exg long int Abvies 2 _2147483648% 2147483647 %ld
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int a, b;

scanf( "%d %d” ,&a,&Db);

=
AE

scanf( "%d" , &a);
scanf( "%d" , &b);
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*intf("%6d %6d %6d",a,b,C);
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EiFEFRE  float 4bytes 2.939x10-38%3.403x10+38 (7 sf) %f
®IEE 238 double 8bytes 5.563x107309%F1.798x10+308 (15 sf)  %lf

FIT char 1bytes EEAm-1282127540E 255 %C
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#include <stdio.h>
#include <stdlib.h>
int main()

{

float num;
scanf("%f" ,&num) ;
printf("%f\n",num);
return 9;
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scanf( "%d %f" ,&height,&weight);
printf( "BE%d A7 18E%.2fA\n " height,weight);




